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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following is not a child-centered learning practice? / fafafaada P Th Fra-FHise AT BT S qﬁ%"

1. Make the student more active in acquiring knowledge and skills / T IR B Sfofd B T B BT SIS Wiehd S

2. Make the student more aware of what they are doing and why they are doing it / O DI Y IR H 31fh THBRI &1 b 9 R w®E
IR AN PRB@ T

3. Working under teacher’s direction and decisions / QT&‘W?_ G ﬁ?fQT 3R fAofgi & ded DhIH hAT|

4. Focus on interaction, such as the use of tutorials and other discussion groups / IR faaR-fau=l UR & Sfgd o, S/ fop
IR 3R 3 T THgT &1 ST HRATI

Correct Answer :-

« Working under teacher’s direction and decisions / QT&W & Elésl BﬁT Ao ded hIH HIAT

2) Which of the following is used in tests of attitude? / fFRTIRET & & fFTHT IUGNT weigh & uieroit # forar wimar 82
1. Aptitude test / STM&HAT UL&for

2. Achievement test / ST TI&UT

3. 1Q test / SfG T TR (3T 2%2)
4. Likert scale / fiTo¢ wha

Correct Answer :-

« Likert scale / [T Wha

3) Multicultural awareness in the field of education includes the appreciation for and understanding of differences in students in terms of

t%heir . | R & &7 ° SgaRp P SIRReHdl 8§ 3% ¥ e ¥ BT W TS ©F wHe 3R RIS M
I

1. skills and abilities / IR 3R &HATT

2. special needs and giftedness / faSIY STIRIHATT 3R IUGR
3. socioeconomic status and religious backgrounds/ JTATRI -3M1ffe fRufd IR qum—@
4, behaviours and dispositions / dgIX IR WU

Correct Answer :-

« socioeconomic status and religious backgrounds/ ST -anfde fRuf SR ﬂm%@

4) The anti-anxiety drug is a drug whose primary behavioral effect is the reduction of anxiety but it functions as Central Nervous System
(CNS) . 1 GE-a1d a1, T Ut <ar @ orget wrufire sageR yyE, fRidr o o1 ol @ afe 98 $aa dfer o
(Heew) & U § &1 BT 8:

1. Activator/ SRS
2. Depressant/ {dHTGD
3. Stimulant/ 3G
4. Modifier/ SRMYH

Correct Answer :-

+ Depressant/ AdHIqH
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5) Which of the following mainly causes children to fail in examinations? / ﬁ‘}lﬁ’f@ﬁ 73 ?ﬁﬂ'—'\‘ﬂ g8 =y '\&aﬁ‘rﬁuﬁ&n&ﬁ ]
G B BT BRI 9741 82

1. Environment in the classroom / BT BT URAT

2. Physical strength /‘x’ﬂﬂﬁ?ﬁﬁﬁ

3. Fear of Examination /W&ﬂﬂ)‘l@?

4. Lack of patience during examination / q‘\ﬁ&ﬂ & aﬁw %Wﬁ m
Correct Answer :-

« Fear of Examination /Elﬁ&ﬂfb—la

6) “Learning by doing” is when learning is: / “HIP ARG d9 giar % 9 tftRmH f= gar %:
1. Teacher centred / {18/ ®fd

2. Relevant and practical / NI SR EICHIREY

3. Passive and theoretical / FIf&HT 3R W

4. Rote or didactic / Xe-T (/<) T &g

Correct Answer :-

+ Relevant and practical / UTiRI® 3R TGRS

7) Children who deviate considerably from the normal children are known as / S 9= 9T 99 O aﬂTﬁ 33%7 E-'ﬁ' %, 3%3? >q
T ST I &

1. Autistic children / IR = (3RS fareg)
2. Abnormal children / 3TEHIRI &=
3. Intelligent children / GfGHH g

4. Exceptional children / S{HTYRUT T

Correct Answer :-

« Exceptional children / SR g

8) Gender refers to the constructed differences in persons. /Wﬁﬂﬁ ¥ I frransii & e (ﬁ@?’) Hefifa war
31

1. Educationally / Qfers TYY

2. Emotionally / HIATHD T I
3. Biologically / Sifad 99

4. Socially / QIS =0 J

Correct Answer :-

« Socially / FTHIS &G I

9) The psychologist, who conducted experiments of trial and error learning, was ./ %m:ﬁ%srrﬁm g, ﬁﬁ»ﬁﬁm-z%
SHFRTH & YN 1 Harfera faar ATl

1. Thorndike / Y STgH
2. Kohler / W
3. Skinner / =
4, Pavlov / qiddid

Correct Answer :-
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« Thorndike / UFSIZH

10) The learning that happens in the formal environment is studied by ./ =i ardmERr H g ara SiftRmH &1 R
e fpar Sar g1

1. Anthropologists / EIEGICEIC)

2. Educational psychologists / IEECIREIERIE]
3. Clinical psychologists /Wﬂﬁﬁ
4. Social psychologists / oo g
Correct Answer :-

« Educational psychologists / fRrem oo

11) Which profession uses the aptitude tests most? / fraar 3{f\‘1-l§ﬁf e BT e it IuahT fba srar %?
1. Guidance Counsellor/ ANTGR RIHRIG

2. Doctors/ fafras

3. Lawyers/ ECA

4. Engineers/’éTrﬂﬁ'QT

Correct Answer :-

« Guidance Counsellor/ HFIGR[ R

12) Which of the following theories of motivation does not focus in any way on biological aspects and needs? /ﬁ"}lﬁf@ﬂ' T 9 oo
BT HI-A1 Rigia, Sifae vegail ok smaxamare w st oft ueR & e Siga T seare?

1. Drive theory / S13d RIGid
2. Hierarchy of needs theory / SaRgHdish & Rigid PIUGIDH
3. Manifest needs theory / Y&l G ﬁl?x'lﬁ Pl AT DA a?'ﬁ %
4. Instinct theory / q&f Rrgia

Correct Answer :-

» Manifest needs theory / U Bl %I@i(_‘l E| Wiﬁ?ﬂ%

13) Which of the following is not considered a cognitive form of learning? /Frafafead 9 fea arfinmmwﬂquﬁ
T Tl 82

1. Vicarious conditioning / Wﬁ?—d ST (ﬁ%ﬁam WQ@H)
2. Latent learning / 3{dd i

3. Observational learning / [ARAYUITE SHTATH

4, Classical conditioning / R 3EY mmﬁﬂ)

Correct Answer :-

« Classical conditioning / R 3RS @@Wm

14) Which of the following principle can be used to make the students curious about the topic?/ fHaferRaa # | fow fRrgia o1

ITUNT BT B v & IR & I 91 & forg fovan o wan 82
1. Already know/%ﬁ@ﬂ(mﬁb

2. Willing to know / ST 1 3531 (ﬁ:’i%mgiﬁ)
3. Not willing to know / ST &1 3531 7 811 (Fie fafef )

4. Don’tknow/'q?ﬂq_bpﬁ'ﬂg ?:ﬁ)
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Correct Answer :-

« Willing to know / ST &1 1 (fafei ¢ =y

15) Which of the following statements is true regarding a Constructivist classroom? / Frafafaa F A BT YT TIATATST
BN F WAy F AT 2

1. The classroom environment is intellectually, emotionally and physically safe. / B E&T T dIdTGRUT @1?@, TP SR Hifdd =u 4

GRIErd g =R Tl
2. The learning process lacks structure. / 3T ufesar & ST 31 \H’H'IH?I?IT%I

3. Student-student interactions have no role to play in a constructivist classroom. / IJFIAIG] (G laciaee) H&l ¥ BHE-BH $ oI dlddiad
1 BT AP el Bl 81

4. The method of instruction is purely didactic in a constructivist classroom. / 7231 @ faf¥y, T TaAmETe @en & qoid: fRiemie 1
Correct Answer :-

« The classroom environment is intellectually, emotionally and physically safe. / P& 6T dIdTGRU FGH, YraT® 3R Hifds T9d

JRI& g =R Tl

16) In what type of memory is the skill of riding a cycle stored? / TR 3&?{%'& Tdh '\‘l'l"’q'ﬁm TN BT I TR gian %?
1. Procedural memory / WW

2. Iconic memory / i e Vjﬁf (Gm m

3. Episodic memory / Ui Vﬂﬁ (QW ﬁﬁm}

4. Declarative memory / UTSUITHD wﬁ

Correct Answer :-

« Procedural memory / PIEpIcCY Qqﬁf

17) Self-improvement is given importance in approaches to personality. / STH-JUR B AR &, EEca|
# mgar & St 71

1. Cognitive / GITTH®

2. Psychoanalytic / BRI CEGYIED
3. Humanistic / ATdare

4. Biological JAcICER

Correct Answer :-

« Humanistic / AFGarc}

18) What kind a learner is a child who seems to learn best when carrying out a physical activity related to the subject? / Teb ST

o ave &1 faemdf @ ot v @ weiftra ifoe nfafafl $ea gu aed erst Haara?
1. Aural /4

2. Reading/writing / U&-1/aa

3. Visual / T

4. Kinesthetic / TTfcrgaal

Correct Answer :-

« Kinesthetic /7 |\>‘|ﬂaa

19) Learning is defined as a process of bringing relatively permanent changes in the of an organism. / SiftRTH ﬁ@

Tickd # sdamed wrh uftad= @ B ufar & wu § e fearman 21
1. Behavior / JdgR
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2. Thought / ddR
3. Personality / Hfada

4. Intelligence / §@
Correct Answer :-

« Behavior / HdgRR

20) In the Fearless Peer experiment by Bandura, who played the role of the model? /

qUGH NI 6T T fgvaw digvvan #, fore aiesa ot yfirer Furg Oz
1. The experimenter / FNTaw =1

2. The fearless child / e =

3. The friendly dog / BFad o =

4. The fearful child / HaHd g1

Correct Answer :-

+ The fearless child / R &= 4

21) Study of meaning in language is known as: / YT A 31ef F 3reg B dqdH GEIEIEEIG) %:
1. Morphology / FBTarSt

2. Linguistics / [iifiaReaq

3. Syntax / Ricag

4. Semantics / Ry

Correct Answer :-

« Semantics / TyHfeay

22) In view of Piaget the stage of development from the age 7 to 12 years is called: ArLiEE] SR, 7 ¥ 12 9T Bt 3 & fawg
B AT B HHT AT §:

1. Concrete operational /&T‘f diharars

2. Formal operational / =R Hfharers
3. Pre operational / tﬁf—ﬂﬁ?—qw

4. Sensory motor stage / FdG] URI AT

Correct Answer :-

« Concrete operational /'H\_Cf Tfisharares

23) Four limbs of the body are affected in caseof ____ ./ F A § IRR & TR ST UYIfad 'E-;ﬁ' %.l
1. Triplegia /E’I’&F@ﬁm

2. Biplegia/mﬁfm

3. Quadriplegia / W@@ﬁf{ﬂ

4, Hemiplegia / s

Correct Answer :-

+ Quadriplegia / aalt';"[@fﬁlm

24) Developing one’s personality helps in / fFll & safdaa & faea S ¥ FErEar gt 2l
1. Quicken the process of maturation. / GRUedl &1 Ulehar I Al dA
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2. Increasing body stature. / IRR BTG dga
3. Dealing with social situations. / araTore fRufadt & foea
4. Overcome congenital disorders. / STHSIId fAeRi R Eb—@tlﬁ

Correct Answer :-

« Dealing with social situations. /i Rufdl 9 e

25) According to Thorndike’s theory, the frequency of stimulus-response pairings determine the formation of/ m:f@ﬁ?f *ﬁl&’l’da’i
TR, SuSHI-fafshar g #1 g, = &1 e Mefva swar @

1. Reinforcements / &l
2. Habits / 3{Tqd

3. Punishments / 3

4. Conditioning / SIS
Correct Answer :-

« Habits / 3lqd

26) Which of the following is an example of creative thinking? /ﬁaﬁ‘i@aﬁﬁﬁqw ﬁl?F[WBET&'TUT %?
1. Arguing /'d?%m

2. Managing time / 90T Ya¢

3. Active listening / b yaqul

4. Questioning / S5-I

Correct Answer :-

 Questioning / J&-d1®

27) Language is which of the following types of content? / HTUI, ﬁyﬁr@aﬁ%mmaﬂﬁwﬁ-m %?
1. Auditory / 4dUl

2. Pedantic /m

3. Visual / €T

4, Symbolic/?ﬂ?ﬁim

Correct Answer :-

« Symbolic / Ticblam
28) CANCELLED

Which of the following compares the human cognition to the working of a computer?/ ﬁmﬁ@aﬁﬁﬁqm% HHBTS B
forg arrdia ergyfe &t gam T @2

1. Neural Processing / GIEGIR GRS

2. Network mapping / Acad Al
3. Information Processing / ¥4 UshH
4. Mind mapping / Hq BIEIEE|

Correct Answer :-

« Information Processing / 1T YshH

29) CANCELLED

Page- 6



What is described as the pattern of enduring characteristics that defines a person and produces consistency and individuality? /=Tt

fadwanait & e+ & wu & Far 3fdfa @ < ue i &1 aRuia var @ ok fRRar tdaf@ia o1 3dre #var 82
1. Personality / Afdaa
2. Learning / ST

3. Intelligence / @
4. Motivation / IRUTT

Correct Answer :-

« Personality / Sl

30) CANCELLED
The term Abstract Thinking refers to / TJEGTT f%ﬂ?ﬂla = 3| W&R‘T %:
1. Personality / fdaa

2. Attitude / FFIIGHT
3. Intelligence / §@
4, Motivation / RO

Correct Answer :-

« Intelligence / g@

Topic:- General Hindi (L1GH)

1) U o1 foar | 1T 2R AT T ITST1 [oR-T0R aaE W 2ft 1 P 11, U St o, S aoiar ff | Sier-ur R IR & 9 ug] §itA B  rsl
= T @ 9ui aga P9 g3 9 T waa g I 7 In7) 59 7 +f smurg I &1 ¥ | aut Bt S smn T g fi S s @ s e
T ARl T SISt 3R A7 1 7 WhaT | 98 Sl &) gihd §¢ AIfUd oY &l 3% = UST| RIS 37 AT a3 Wa¥ Wi 3871 T, 39 9 goial S 9
Frrar| SE@ el a@RvEl B WY 3T T Telt 11 I R fea e ok ga @) Aell F F W T 79 ST Wal It o1 IR A I T
et A e et 5 ihm @ SR | w1 g aut & @ $o it smar T R w17 M A we 9 9 T 3 9R SweT 79 starsie o gor
fipe ot Su fewra it o o Tiaer @9 W uga Ml

IUYT TR B UGH AT T Y U BT SR Ia1g¢l
T: T & U B | TR TS 412

1.9

2.7

3.408

4.9

Correct Answer :-

2) TP T fHu | T 6 A1 A1 ST ToR-a9R ad Wt 31 0@ T, T i) 39, e gaial ff | Sier-91 =1 R & WA ug aie o1 arsi
= e @ aui aga P9 g% W T vaa g5 & 7 9w 59 7 i smurg I €1 w8 ) aut Bt $ig s T a9 i S sawr aan s v A
T Al T B! SR A7 8 7 T ) 98 Sl $) g §Y a1 BX @ 3R T UST) SRTS T3 AT a3 WAk Wie 3311 MW, 99 9 ghial B 9
Froran Sud! get aoiadl B RPT 3¢ M Tl TS| FaA B a7 ok 50 &1 3l F $ W e 99 ST Wl 1 iR 1 I A A 7S
e A Srpae et b “ihm | Siias | T g auf & @ $o ot omaR T8 fiw R 1~ e A wa 3 a9 G 3 aR SueT 7 stareid ot gen
bz oft 3uA fewa 3t ofk 7o AR @d W ugd il

IYYRT TR B UGHR -1 IR 7T Y7 BT IR qa13¢)

WY: ST XS BT GaTqarh Teg BT A0 L2

1. 3R

PACISE

3. il

4. 3ThIed

Correct Answer :-
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3) TP T fohamT| AT WY T 4T S| ToR-a9R a1as Wdt N1 T T, T siidt 3, 919 goial A1 Sier-a1 R R $ I ag) i 1 arerl
ot et & 9ol 9gd BH g W1 7w gs 8 T IR11 30 79 off snmutg @ € ¥e i aut 1w sm=n g W5 i Ba Haex wr s e A
TS avl G SISt SR A & 7 i) 98 Sl $) giea §¢ a1fe B @ 3% T UST| SRTS 3 MAT a3 9k Wiew 3571 M, A4 g geRE dr A |
e et Tol il B IWaw I T Telt 7| S R e 92 ol 79 91 SO & S8 W e 99 veT Wal 3 o1 I A 39 75
ol 7 Srpa) Pl {5 W Siia= | 1 ghn? aut & o $o ff SR w8 e @17 M A w9 ot 9 G 38 IR SueT 59 siarstd ot gen
bz ot S Rwa Tt ok 7o Suey @ W ugd il

I TR DI UGHR A IR Y YR BT I<X Ia13¢1
;o & & i S e et oA

1. ST

2. 98

3. T

4. 9RT

Correct Answer :-

4) T o1 | AT HRY A AT ST OR-SR e @t At T T, T siel S, S geiat o) Sie-ar w1 W $ 6 Uy st $ s
A e & auf 9ga $9 g€ W1 T wud g8 N T IR0 330 9 oft srrurg @ £ v A quf @ S s T8 d5ft i B Saew | e mEr
TS aRil G SISt SR A7 € 7 i) 98 Sl S gid §¢ a1te 69X @ 3% T UST| SRTS & M1 93 qa¥ Gies 3811 W, 99 9 9] B a1 |
e | IHSt el Teival B IR 9 TR el TS| 39 R fia TEY ofk 59 ) 3T & S8 R TEeN 99 UST Ul 31 o | I # 39 7Y
a3 Sra) w1 fF Tmm [a e F R Er? 9ui & @ o ff SR T8 fiRa 717 T 3 §9 Y 919 Yt T aR 9T U Slarsia ot gan
5T oft 3w fowra Tt ofk 7o Hiaer @a W uga Ml

IUGR TR DI UGHR A1 I Y U= BT I<X Ia13¢1
T T I UT?

1. U@ frae

2. U ST

3. TH WBR

4. TP GAR

Correct Answer :-

M eCATAIC)

5) Tw AT {1 Mar 5N} T 31 SEET] ToR-a6R arhe @t 3 TF M, U gt S, S geiat &) Sler-ar wv | W ¥ uee Uy aieE o aisTi
A T & auf 9ga 1 g8 A1 T BHa g8 O 7 9R71 59 a9 off omure @ ¢ ¥6 A aui B Hig s g1 a5 1 S siae | s i A
T Ol Wi Biel SR A7 & 7 AT 9 Sl $) gihd §Y a1t UX @i 3% T UST| SRTS 3 M1 a3 wa¥ Wies 3811 T, 9 9 9kl Sl 9 |
FrepTar| SH@ uelt a@ival F IR 3% R el 71| Iu f fea e ok ga @) dal & $d W vEe a9 usT Wl ot o | T A I8 T
fart 3 et et & T Ea Sias & 7 grm? auf & @ $o W R 78 fig 217 T 3 w9 o 91 G $E aR SueT 7 slaer ot g
bz ff S fewra vt 8k o Hiuew @d W ugy @il

IR TR B UgHR - TR T U= BT 3TN qargvl
UR: AT & 1§ W 7 Wi T faar &) o 61 ur?
1. Fiifs 98 Igd ¥ T AT

2. Fifeh IHDB! Tell T =g i

3. i IR AR W 61 i g A

4. T ol §1F BT BIS AR T8 Tl

Correct Answer :-

« Fifp I GF BT Pl AR T} ATl

6) TF U1 R | T WRY AT T ST ) oR-IER A Wt A1 U I, v S 39, S it F ster-an w1 W & e ug ates o1 s
& e @ auf g U g O T wua g8 ff 7 AR 3 af oft eurg g € 3w i auf A A1 e Y d@sht < Ba Saer w1 EETIRe TR
T et i BISt 3NY A Bt 7 GIET) 9% 99l B gichd BT aIUd U B S T UST) 3T fo7 AT 9 HaY Wi SoT| MW, 99 9 seial drae §
frepTem| IS Tl T IvEl B WY I= A ot T | T fibe ferd 7eRY ok g & 9l & Y W ITHY I el Wal Bt 3R | I § I B
Pl 3 e et & 1 @a Sia & 71 grm? a6l & @ Fo W R T8 kg 317 e 99 9 919 ) $E aR SHaT 7 siarsi oft g
57 ot Sw v it ok 7o diuer |9 W gy Tl
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IUY TR B UGHR -1 YR Y U BT IR qa13¢
T T T Safa ot 2

1.7

2. STITaTet

3. HHAR

4, UITet

Correct Answer :-

7) U 4T far | T 91 A1 o1 3911 m—ww@%ﬁtﬁlwm,waﬁsﬁa,mawhﬁﬁW-WW|W$WW§?®WW|
9 T & Ui aga FH g8 M T wud 58 I 7 R 39 99 o simare g 81 v6 man auf @t $E omm e ¢l ff | e e w s T
T Al T SISt SR A 81 7 T | 98 Sl &) gihd §¢ AU oY &l 3R O UST1 RIS e AT a3 qak Wies 3811 T, 39 9 goeival S as |
T It Tel a@ival B IRER I T gell T8 | SH R e 9 ofi ga @1 39 & S8 W ey 99 usT Wl 3 9k IR 7 39
P 7 SrpBx Pel {5 "I W Siaw | F1 2 9ui & |l $o W SR T8l fiRa W17 T X W9 ot 91 G B IR S7DT U siatsid ot g
fipe oft I fewra <=t oik 59 Wiae Qa W ugg

I TR B UG A T Y YR BT IR 93T
TH: TSI B P ARTIGT AT 2

1.7

2. Mg ard

3. THT 51 Gelt

4. SR 94t

Correct Answer :-

o TP Tt

8) Tw U1 | AT HINY AT AT IHPT| TOR-TR A Wit A1 T M, T Siet I, d gwiar o) Ser-an w1 W F 6 ug st 1 s
ot Trer & auf 9gd U g8 W1 7w gs Ff T arT1 30 I o enmug g € %8 T auf 35t 3 amxn A8 d@eft i Ba Hae | s v
TS al G St SR A & 7 i) 98 Sl $) gied §¢ a1t BX @i 3% T UST| SRTS 3 AT a3 qa¥ Wiy 3811 W, 99 9 96iE) Bl 9 |
e Iue! Tol Hial B IR I T Tell TS | S R e 9 ofit 59 o1 36 & Sl W Iy 99 usT WAl 3 iR I A 39 &5
framl 7 Srpas T f Mm@ Siaw 3 /1 ghn? 9ut & @ $o ff orR Ad g @17 i A w9 ot 9 G 58 IR SueT 6F siatsta ot gen
bz ot Tom v Tt ok 7o Wiae) @9 W ugd il

IUGTR TR DI TGP A1 I Y U= BT SR Ia13¢1
W “SIATS I }7eg BT T S 8 2

1.RR

2. JRRR

3. SHIYRYT

4, TEYROT

Correct Answer :-

9) Tw YT T | AT HRY AT AT ST [OR-IER A Wt At T T, T siet S, S gwiat ) Sie-an w1 W 6 Uy st o s
i o @ quf 9gd $4 g% A1 T B g & 7 IR7) 59 a9 +f smurg g €1 ¥ T aut Bt S smn Te 9ot f1 W e | s mer
T Tl A SISt 3R 7 € 7 Wie| 9 el Bt gied Y I TR @5t 3R wd USTI ST I i a3 WAk Wi} 36T MY, 39 9 gHival S g
frpran| 3w welt awial B IR 37 T Tl 71 IH R e e ot ga @) Aait F HY W Ty a9 et Wal Bt iR I A I 7
Pt 3 e vt f& 1m Ga sias @ | erm? auf & @ $o W R 78 fig w817 M 3 w9 ot 91 G $E aR et 7 slaer ot gar
bz ot T fewaa vt ok oo Hiuee @d W ugy @il

I TR B UGHR A T T U= BT SR qargvl
U *3ATUTG” TS & FIE DI AT Al ST @ 2

1. SRMTE

2. PIfcich

3. 91a4

4. 9§
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Correct Answer :-

10) U AT framT1 T HRY ART T ST | oR-T6R A4S Wdl At | TF T4, TP wig! a8, §i9 goiar ff| SIer-a1 @1 W & A 9] a1 o7 91811
ot wre & auf aga &0 g5 N1 7 v gg T Ir1 30 9 off snmurg 3@ € ve ) auf S $iE smn A @t B Qe Saer |/ s var A
TS Tt G BIS! 3% A Bt 7 HIET) 98 99l B giehd §T AN U @ S T UST) ST fo7 AT 9 HAY WiwR SoT| MW, 99 9 el prae d
e IS Tl T IvEl B WY I= IRM ot T | T fibe ferrd 98RY ok g0 & 9 & Y W @D 9o ST Wdl Bt 3R | I § I 5
Pt 3 e Hol % T @a Sia & 71 Erm? a6l & @ Fo W SR T8 kg 317 T T 99 9 9 G S aR SuET 7 slarse oft g
bz ot S e <t ok oo Se) @d W ugd Tl

IR TR BT UGHR A I Y YR BT 37X Ia13¢)
UR: ToR-GEX § B T 9 82

1. g5 9™

2. Sgsiife TN

3. 3fTHIT TH™

4, fggam

Correct Answer :-
. GE9AN

11) TP 4T fFar | T A1 A1 4T ST [oR-awR arad At &1 T T, T i a9, S aeial H1 sler-a 91 W S wma ug afe S arsT
@ ITe & 99 9gd $9 g8 I T vwa g 7 w7 59 7 +ff smurg T 8 v ) aui @t g smn T ae R S e wan semee v A
T Al T SISt SR A 8 7 T | 98 Sl B gia g€ a1fid oY ot 3% O UST| 3RTS T AT 93 9a¥ Wiy 3811 Y, 99 9 geikal Sl 9 &
T et el a@ival B IRER 3% T gell T | SHA R R 92 ofik ga o1 39 F $U W Taes 99 usT Wl 3R I 7 39 7
Pt 3 oo Hol [ T Ga Sia § 71 grm? a6l & @ Fo W R T8 i 3317 T 7 wE B 9 G $E aR SHeT 7 siarste ot g
bz ot IO fowa it ok oo We) @d W ugd il

IUYR TR B UGH A1 T T U BT SR 9a1z¢l
o fr i A auf e gs € 2

1. Uaau g

2. AR AN §

ERGIE LIRS

4. QN g

Correct Answer :-

. A anfd

12) T AT fHurT | ivar J AT o1 SUeT| ToR-awR a1 Wdt A1 TE Y, T s du, f awiar K Ster-an w1 W F e ug aies 1 arsT
o a1a & aul 9ga FU g8 At T waa g8 A 7R 39 9 o siute @@ § 3e ) aut #t w18 o= gl d<ft 1 @a e wr wemmee A
T Al T SISt SR A7 81 71 W) 98 Sl B g §U a1fUd BX & 3R W UST1 AT 3 AT a3 9y Wies 3811 T, S TRl Sl e |
FrepTer | SHS el aHRE! B WP 3T IR Tell T 1 I R e e ok gAY Aell F F W e 79 s Wal It o1 I A I T
it A Sree T b ik @ s | w1 g auf S @ po ot smaR T R w1 M A wa 3 a9 T+ 3 IR SweT 7 starsie o ger
fipe ot Su fewra it o o Tiaer @a W uga Tl

IUYER TR B UG A1 T T U BT SR I
WH: A1 BT At F 71 e § 2

1. UM @I

2. G Sid Bl

3. TRIY W BT

4. gl oI &7

Correct Answer :-

« WA S &l

13) U T fpe | T 6 19 AT ST [oR-TIR a0 Gt 9| T T, TF i) 99, S qoial ff | Sier-91 91 W & WA ug aie $1 arsil
1 | & auf aga P9 g% I T vaa g5 I 7 9n1) 59 7 i smurg I €1 v ) aut Bt $ig s T a9 i S e @ semee v A
TS Al T BIEt SR 7 81 77 T ) 98 Sl S giepd 5 a1 BX @ 3R I UST) AT T3 AT a3 WAk WieR 3371 M, 99 9 gl B 9
Froran Sud! gelt aoiadl H PR 3¢ T Tl TS 1 IAA 5 Fa 72 ok 50 &1 3l F H W @R 99 ST Wl Pl iR I A A 7
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framt A Srma) w1 i imm [ S S |1 e 9uf & 9 o off omrR e e w1 i A w9 3t 919 Y B aR 9wt 5 starsia oft g
bz oft So= v it ok 7o Wae) @9 W ugd

SUGRT T B UGHR A1 YD T YA BT IR q15¢

T U TS WUS W W S Y T ST U T fad quan @ 2
1.TdY

yACAICIE

3. ORI

4.0

Correct Answer :-
. WdY

14) TP 4T e | T 1 A0 AT ST | [oR-TER arad At A U T, T St 39, S awiar Ff| Sier-un 61 W & 6 ug ares o arsi
A o @ quf aga $4 g% M1 T v g8 FF 7 IR71 59 7 +ff amurg @ € v6 ) auf Bt S smn 7o a<f i T e | s mar
TS Wl G DIl 3iX A 81 7 G198 97l Bl gichd §T AU U @ SR 9 UST| 3Ta {31 AT 9 HIY Widx a7l T, 9 g 96 1a] Sl are d
FroTan 3P ud ToiE) B iR I WM T 71| I3 {57 Red 6 ok 59 ) I S HY W @@ g9 ueT el B iR | T A I B
Pl A e el o “Ihm Wa Siiaw & T g2 auf & & 3o ft o 18 o w17 T A a9 919 Get 3 aR S9ST 74 Siarsid oft g
e oft 3w e Tt ofik oo Hiaer @d W ugy Ml

IUYE T B UGHR 19 TR 7T ¥ BT IR aq15¢]
Y : AT TP 6T AT & S A1 B e
LA AP el

2. I

3.4d

4, Hiqeg

Correct Answer :-

15) U T fararT | T 61 1 4T ST | eR-aeR A |t 4 U T, T Siist o, S aeival ff) sleran w1 W $ ame ug) aies a1 arst| $9
e A auf aga oA gE | T Eua g8 A 7 AR 39 7y W omurg g 81 ¥e wan aui B #ig s T el f | v siawy s sy M A e ol e
SISt 3 T & A W1 98 A0} B gl U AU TR DI SR T USTI ST FaT 7T oS | Wb 33711 T, 901 T IH Rl b1 a1 | frep1an | ST uelt
TPV BT AT I TR Tl 1§ | I 6T forra weht ok 59 @1 dal F H W TEeT 99 usT Vel 1 iR | IR § 39 3% frarl A daw w1 5
«Tie) B Siie § T 9uf & @ $ o o e g 18 17 T 7 9 6 91 Gh ) 6 9 SweT A9 siarera W gt fiby it s e vt ok
TS S Ad TR Ugd Wl

Iuet TN B YgER 1 g T A BT SR IS
TY: ‘TS XWeg T 2?2

1. fae=h

2. 33

3. dH

4, doad

Correct Answer :-

16) CANCELLED

WY 7 g A1y Y, @ AR 3,1
I PRI aRAR b1, UST I8 &t & I

ara @t 32 & iRy, Sty Rt g ity |
wai dreg faf iy, T ot v g

T T Ui B Uge Y U O 9T WA $T S9R a1t
W U Uikl few s A TRa g 2

1§ BTN

2. 94¢
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3. T
4, grdt

Correct Answer :-

17) wfa 7 4@ a1y 31, 1o dife 7m|
T B qEAR B, TST G G &M |

ATen & B F Y, St Y g it o
Tgai drag Ry by, e ot gt =l

foT T e Y TgR R O 19 91 U B SR Ia1gu|
o Sty v A AT g 2

1. TtfefT

2. 5 APIg el

3. gfedn

p—

Correct Answer :-

18) Wf 7 YR WY I, @ g 3, 1

Hie 1 ARAR BT, UST 64 &1 & |l

T ot B A by, sty iy g Al |

Tqafareg Rt iR, ag ot gira g

R 7T T B tees 9 1S oM 9@ vl o1 9 Il

wet: "SI T ST WY B, [E A g7 F e @ o 3 fus dea o muftmar d g 2

1. ofd
2. 91y
3.3H1

4, ddR

Correct Answer :-

19) <ifa 7 YB1 Ay Y, B difE T4, |
W FR AR BT, UST 6 &1 & Il

Aen |t B A by, S ey g wife |
Taidi g8 Ry R, ae ot gitn= =fgn

fou 7T v %) vewR R U@ WM 9 WX &7 39 9arsu|
s IR FTRT AT § 2

1. DM

2. b

3. 48

4.31Y

Correct Answer :-

. B

20) wIfd 7 YBY WIY $I, 7S e 7, |
T $ TRAR P1, USTIGA G &M 1l
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A dl B A by, s ey g ity |
wai i eg faf¥ b, we ot it i

g 71T yeriw Y vgwR A 73 S 919 WA 71 I qaisCl
TY: “UST X6 & R | 1 A 82

1. SN T Wi

2. T &1 HEdel gl

3. TE BT

4. SR gt

Correct Answer :-

. T BT HE@aoH gl

21) oY 7 g3 91y 9, 7o AR 71,1
Hi BRI TRAR P, UST & &1 & I

aren &t 3% & f5Y, Sty fFY gaify |
Tgai dtgg Ry AR, ae &t gitwe =fgn

T T Ui B UgeT Y TS 919 91 WA $T S7R GaSC|
wy: ‘g ff¥ fBY &1 7 arerd @2

1. H 1 YcPhld

2. IRIIT

3. ORI e

4. IRI P

Correct Answer :-

o HAD]YHchIg

22) oIy 1 g3 91y 3, 7o AR 719, 1
Hi BRI dRAR P, UST & & &M I

aren &t 32 & f5Y, Sty fRY g ify |
Taidtgg Ry e, ue &t gitwe =fgn

T T Ui B UgeT Y U 91 9T TR $T S7R Fasg|
T YRR & sierla @ar arar g 2

1. ¥ fiaq

2. Had TR

3. Bad g9

4. SO GHt

Correct Answer :-

o JRIga gt

23) WIfd 1 BT A1y N, 7o dife 39, |
WS B TRAR BT, UST I8 1 7 Il

wTen | B H fbv, Sitw sy g AR |
Tgai <t a8 R fRR, 7 @ gitR= =i

T 7 ueri Y vgwR R U 9 91 WA BT SR 91T
L W Ui § ST /e Y R AT Rar g ?

1. 9t

2.3

3. RW™

4. ST IHt
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Correct Answer :-

24) wTfa 7 gt Wy B, 7@ Mow 79,1
T HX TRAR FI, USTIGA & &M 1l

AT @ F # Y, sftu R g oty |
Agatdreg ol sy, o @t g g

foT ¢ e Y TeR R O W1F 91 WA BT SR Iaigu|
T U Ufed § paR A fhas Hew St exian g ?
1M

2. AAAR

3. 3{H

4, ST 9t

Correct Answer :-

25) =i 1 got Y Y, o @i 19, |
T HR TRAR $I, USTIGA & &M 1l

AT At % A fby, sftu R gaaife |
Agatareg il sy, o @t g g

T T verier Y T} AR O O AT WA &1 SR qasul
UR: TR XTeg BT QiIaTt [Teg 1 78l @ 2

1. Ul

2. ae

3. 3Ry

4, RHY

Correct Answer :-

26) ST 7 YB AIY Ft, TS e 7=, |
T TR TRAR P, TST V6 & &M )

TTe | B A b, Sfty ey g iy |
war dt g RRY Y, oe @t ghwe =t

fow 7T weriwr ) UgHR Y O WM arel WX $7 37K JaTs|
WEH: T g1 (OpRell YEaT 8 2

1. Y H

2. JUaH

3. IR fe=mefi &

4. g |

Correct Answer :-

. IR feRmef

27) i 1 @t WY B, S A 714, 1
T ) TRAR P, ST & & 1l

e at @ A by, ity fey g ity |
wai A ag faf¥ b, 7 ot it i

T T weriw Y gHe A 7S S 9T W BT I qaisul
W At At o R R, Tg o gt i iR ¥ o 3 e ae w1 R R 2 2
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1. yfda &1
2. M BT
3. ST T
4, PHBIUS P

Correct Answer :-

28) a7 gt w1y 9, g e 3, |
Hi BRI TRAR P, UST & &1 &M I

Aren &t 3% & f5Y, St fRY g ity |
aaidtgg Ry R, u &t gitwe =fgn

T T Ui B Ugee Y TS 919 9T WA $T 7R GaSC|
U Bk A GRRA frd Tt amn @ 2

1. B Sty oA Bl

2. $aq A9 B R fE=msii § gumA &1

3. ad [Tl A Bl

4. SRS FHt

Correct Answer :-

« IR gt

29) WY 7 IS 91y FT, TS iforg 7, |
T B AR DI, TST G &M |

AT A 3 | Y, sftv 5y ga e |
agai <t ag Ry R, ue @t gitwe fdn

foT T e #Y vgR A O WA 91 WA BT SR Ia1gul
URA: 1Y’ XMeg BT TR 1 82

1. FrYsf

2. et

3. 91
4, qredt

Correct Answer :-

. gredt

30) WIfa = YS! A1Y F1, 7@ Ao 7, |
T B TRAR BT, TST I8 of |’ I

ATe ot @ # 5y, st fsY g it |
waiareg faf¥ b, e ot it =i

T 7 werw Y vewR SR O 9 91 WA 61 SR 91T
Y gRRT STET s B 2

1. HTIG{ & =TT BT ¥R

2. P B

3. g I U HAT

4. SR HRE T

Correct Answer :-

« WG & ATH BT ¥R

Topic:- General Sanskrit(L2GS)
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1)
3%&?:6%@ ﬁ?&ﬁa$§ &: 9o qE: ?

| BRRerss:

F oA gH SR & e e ?

e I B

Y FETHRA Hia qAPE Fied |
g3¢00
1.

00
2,
00000

, $¥¢o0
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Correct Answer :-

00000

5)

giTee aTocar ueaTed %gxqagcdi T -

Il AFAARIURT 3T IR | 30T PO, FEOEIUR:,
qUIRRT: F6UI0T: 3fd A CdUior | 3T SO: Jiaseed oJodl, AeFd:
di:, HISATTIRRAT: T, qehed T = |

3T UM el Hh-IH-AH  -3d- W7 ager faersy
"decare:” id ulferseiad | ¢ oo dgel A dEA ST
it

3T HAGHRATT hdl | 8 3feldhlied 3UTEAANA died |
HEAA, T JSCIEY YAl dded | AGON gl TR HARd ddd |
AR ‘ UsdHAl dg:’ sfd UfddH| FAGHRAET ST AU AR

faeaa |

ATHAEIYON 37scieer  qROM 3uquonfa = faf@dia | quiy mae sfa
WoeEy  fasafed: | U SIdNUHATGH, 3cpte Hdfd |

STEAGATT HETHN qonfe o T dcar 310 decare: HoQMed ATTHT |
H: ARGYGe #HEdd: A Heoraid fafee anfeanssrd |

F N

AR T | dfeel caaea 3TRTersr Sﬁﬁﬁ | T ASE: IR dad|

FETHRAET ATHe A H, fhATEd-

TEELT:
] e )

4

Correct Answer :-
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9ollehl Ufacar srenfafeseeT TeaTey ﬂagdgcdi A -

AN of FaeIT = Ol o &led 7T o &fiel = JOM o &3 |
d FA el SITasTeIT HSITUT FITRT o ||
AT T8 Tar < Taerard Had f&a# |

PRIBROTALAT id e Radg: ||

qu’ 38T 3 forgem: |

? qeileht afscdT 3fenfefeseed WRaAvd qgHcal I -
AT aegraiTolse eI TeAt e AT e JHL |
3Ed UTAT 30 °F &g gHISTT AT 7T oo+ ||

JaSToHehdl Shel TG, aaialicl hedd |

TEAT YEYPRUT Il PTG ogd: ||

Udd ¢afAtd Fead |
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Yoliehl UfScar TSy Tealed YgHca FaAd -
e caTe gl o ellseT TR AT §&U AHAT |
38T LT 38 T e gHATsT Seaiel 5T gead ||

qSTeHehcl el oIe, ad il HeAd |

TEHAT, YEIRRUT Tced e e ||

ST idsT 3¢ UG TgFdH |

* oefiont afsear srnfAféveea weaTed YEHeR Faad -
AMEcTIearaicTelss eI Teat s fAdr gad I |
375 UTHeT 387 I e er#ATsTT SIeTfel s1Ed geas ||

JaoleHeh & dq adiHid H2d |

EAT, JEIRROT Fcol hAacdiegd: ||

T Fded SN |

Page- 19



Sha:
gloedH
o5

1.
2.
3.

Correct Answer :-

" odlient UTScar srenfaféseey veaey YSHcR FATd -

ST o7 faear = qUT o aTed ATt of el o I[N o7 & |
o Fceilch $7TeTETAT HASITUTT FIMLEL el ||
AT 7 Tar afa samadq Baa ’ed |

PRIBRUTIRAY §idied fRddg: ||

I, U T&dTYoT: s7afod |
| AT R
ATATHATIR:

2.
[

3 HAldHcallHax:
. AT R TR

Correct Answer :-
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gliTee Ufocar UeaEd %;gdgcdi A -

CATRYIEAed  hE-SIIHETIC-GECRITHRTAH A AReife:  Faear
Al daT T T FEIcHe: 3Ad: 3ead| S TaUAr 3Iade:
PRER AT 3| de Taeifasl dasht aeamed ol agea: 31
Soqlg Teerelal 3rstadre|

SAfAfder F@d Gaeamn: T o ARSI s gaael Tdd, Sl S
Scaed PR W AEdT: Wedid  SleHecied ARG | fhed dard

PURY  STefelloci¥e], TS RIEIOT: Foch: 3efae]| Torafere: e ERCEE
TMNRoTH, 3| T T TAHNRT Aeeed g6 o FAT| Tcedld T e
THAHICA| Wekd RIS Scal e TANTSd of T Slicle RIeml
felccar 3 AR |
fohord ET e FOUT: Aocdd AU IR e el dF Uidie
IaART: I:  dTclallel-IHelol-ANARUT-aRidIGA-Naelel-elelliGa:  dacare]
HelleA Ty farel: Heaseniearnlid |

Thel T HETIHAYT ITCATHl FIH 3PS dF ha: 3T T
3edd: Al dET Sol geedl P i hAsaepsy aRFIASIAAT
dgerd I | a8 UatH 3989 FRENE Af@car  Teiaerds

giasaiiudare |

FERA-TG AP HIET IG&d FAUR: 30 e, TATET 3l
ARIATEIAI FeT I 3ol Yolge fOae] T dodicte: Fray feurdme
TSCAT HIGH 3RS dal #aTdle] AHsor: q&d AR 3ucers eid |
I, JTeHT: 3L, SUICSCH JTET | Toailsd TANET FAUGY
THI-AY TR0 |

URAT, O ANPSUT: GANRT: USTHgsTH 3eefd] ddd d&d deddadl
T 3T | PO TGAT  KIGTAGHATTITTHARI 1376
sm—cﬁ?JT deatldl Tfed, a8 Ifdam: Yerdied, Heied o -

‘GO $TITATe, A, |

T 5fd UGET HATARUGHGHTEA-
IE=ER

1.
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, AU

SEE
4. o)

Correct Answer :-

13) ZYIRMTATH
PUSISSH

1.
FHUSAT

2l O
dlel:

3. P
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gliTee Ufocar UeaEd %;gdgcdi A -

CATRYIEIed  hH-SIIHETIC-GECRITHRTAH A sceife:  Faear
Al daT T T FEIcHe: 3Ad: 3ead| S TaUAr 3Iade:
PRENY fAfEed: STl el Taeifdlell Sdehl aeamed &idl agea: 3y
Sodfg TAe[elal 3rstadre|
SfAfder F@d, Gaem: I @l ARSI s saael Tdd, Scal &
e PR W €Al Wedid  SleHlecied AN fhed  dard
PURY  STelelleci¥e], TS ITRIEIOT: Focl: 3efae]| Torafere: . ERCEE
TMNRoTH, 3| T T TAHNRT Aeged g8 o GHAT| Tkl T aeg
YA UeRd RIAe Scdl he: ARG of T Siiclen RIemr
T8Tctar 3THART |
fohrd TET AT POUT: oo AT JACRT: 98 3iWdld| aF ufdfes
IIHAA: T dlclelel-Helell-3TIRUT-a i aTGI-INaeleT-elelliafe:  dacdre
HelTeATd fare: Heaseniedenld |

Thel T TV ITCATHl FIH 3PS dF Ha: 3T I
3ehd: 3eTad| TET Tol Joral AP Hy HATApsy dRFTIsITId
ged I | a8 UawHE 3989 FRENE Af@car  Teiderds
EIGEJIEGCIGE
HEIRA-JG AFSUT: HIET JGET FEUR: 3T e, TafATeT 3ol
AT TaT T 3olel: Yollgled Tle]  Hrdiotle: FEAW Feerdm]
TSCdl HIGH 3UNRTES dal #Irar] AGSur: q&d MdArm: 3USers 3l |
AN JTeHT: 3FLcad], UICSCH JTET| Toailsd TANET FAUGy
THI-AY TR0 |
qeuld T AHSUT: GAREAN SIEed aAd| ddd ded Sedad
QUIH:  3ETeSd. | AR FGET R eEAcada nlid, 1316y
AT deddld TR, a8 9idan: qerdied, ®edied o -
“POUTE] Al TIT |

aidieeTa S TAN: ITATEd-
dcIey:

1. Ne |
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2 TG

| AUR:
gfa:

4, 0~ o)

Correct Answer :-
eTAHAT:

16)
PO HF e ToTo] |
ERE]
1.
HUSH
2. e

Page- 24



U=Tae UTocal U2y Qggdgcdi qId -

cuwdgm: AFACANIOEY 37T AR | 3T FSU:, FOUGIURIeT:,
qEIRR: SEIR—IOT: Sfd AHEdUior | 3T OE: Jiasesd Sudl, ed:
g, gcIaaraLear: 9, Yhed Uar T |

3T IR IeleddelIAH  Heh-Io[-A1E -3od- T ggur Ay
decarT:” 3ia ulErsead | ¢ T dge ITA deAd S
S|

3T AGHRATT Hhdl | AR 3fedhifel 3UTEAE Aied |
A T ISCIEY YAl dded | TGON dgell TR: AR ddd |
FEHRT © UsgAr dg:’ 3fd Ufdad| #AGHRAET ¢ S 33U sH]
focae
CATHAEIYON 37sereer  YROM 3uqqonfal = faf@dia | qufy #ae sfa
Woerd  fAsufed: | WOy APEd@UHAGEGH, 3ot dafd |
SEATAOT AT QUM T TARIcar 31T decam: HeAReMfed ATeleld |
Ad: ARGUCRNT HRIad: A ForEid fafoea enfedased |
ATl | Afeel SOTaEd 3R $hafed | F: AvS: AR dedd|

Jecaafa ufae: srofEcAEa-
) TehlsT o
2 CRALEIEIE

HETHAR AL,
3.

IORIAH

4, 2 h

Correct Answer :-

_ dgfaem:
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oellenl UfScar reNfAfETeed Toaed Yge el Fadd -
Mg islell sl et AT &g TH |
316 UTARY 38 T Hed gATSTY SATeATid 7ET g ||

qdeleHehd & e, GaiAd Hed |

TEHATC, TEYRUT Ucel BT gl |
T JEYUT Jool HAT |

g0
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eelleht afscar srenfafdsesd TeeTed Yl YA -

AN o TaedT o Ul o &l 7M1l o el = 0N = &3 |
d Fcdeilch 811eTREIAT FHSATITT FHIMRT el ||
A1 fA= ar A Taemard Rag Ras |

PIIRROTARIAY $Tafee feddg: ||

Td 39 FISARTMe |

, CTaTdr:
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gliTee Ufocar UeaEd %;gdgcdi A -

CATRYIEIed  hH-SIIHETIC-GECRITHRTAH A sceife:  Faear
Al daT T T FEIcHe: 3adi: 3ead| el TaUAr 3Ide:
PRENY fAfEed: STl el Taeifdlelr Saehl aeamed &idl agea: 3y
Sodfg TAerelal 3rstadre|
SOfAfdel F@d Gaeram: g caf ARRSAfd’ sfa smamel Tdd Scdr
e PR W €Al Wedid  Sledlecied AN | fhed e
PR SleAollec¥d, T IETOT: FocT: 3eTa=| Tgierem: et ERCEE
INRoTH, 3| T T TAHNRT eaed g o GHAT| Tcedll T aeg
A Tield fAeed Hedl Ha: dAEeSd, df ° S e
T8Tcar 3TART |
fohrd TET AT PO Ao AT JAGRT: 98 3iWdld| aF ufdfes
JUAGT: H:  dlelelel-THleT- IR OT-aRfidTgd-Ndeed-oleliafa:  aacdre
HelleAty fare: Heaaeniearnld |

Tchel I hETITHAYT TICATHl HUIH 3FTTh| dF Hdl: 3T T4
3ehd: 3eTad| TET Tol Joeal AMpSuT: Hy HATApsy aRBTAsITTd
3ged T | a8 UdA 389 FRENG Aibcdr  TeIiaerEst
EIGRAIEGEIGHE
HEIRA-JG AR HIET JGEI FEUR: 30 e, TafATeT 3relaey
AR T T 3l Yollgled el T Trdictle: FHAW Reerdm]
TSl AlgH 3UNS dal #ferdars] Aesor: qeH Ifarn: 39ce# 3eid |
AT JTeHT: 3FTcas], UTCSCH e | Toailsd TANET FAUEY
THIAY TRETUTd |
qeuld T AHSU: GRSl aAd| ddd d&d Sedadl
QUH:  3ETeSd | G TG RS Acada i, 131edny
LANT: deelld FRied, a&g Ufdam: Jerdfed, ®adfed T -
"PEOTEG T T

TTse, HIS ScIET UGET 3MeRT: 3Ted-
TSt o
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22)

TTde 9fdcdr U2y %oles\dgcdi AT -

Il AFAIRIURRY 3T IR | 3T PO, PEOEIUI:,
qRIeR: SEIIeT: Sfd AT oT | 3T SAM: JiaseEd otdl, QIR
i, FITATTIRRAT: T2, qheT T 7 |

T TR IeAeddeAAH,  Hp-IJ-HH -37d- TAT IJell  fqersy

decara:” sfd UffelsHad | ¢ facuE deel IEAd dTAd ST
ST’
3T ARHIRAET &hdl | 9Rd 3l 3UTRAANS Afed |

ARAA, = 3SeIgy YAl dcded | TGN g TN R Idd |
HETART * UsgAl dg: 3fd ufddd| AgRasd ‘ S 33U AH el
faead |

SUTHHAEIYON 375ciael QRO 3uquonfa o ffedfe | quf 79 sfa
WoeEy fAsafed: | qUUY  SEIdRIUHATeGH, 3cpte Aatd |

STEAGANOT FEARA GOl T IARIAr 31 IGTIN: HARMecd ATeleTd |
A ARGMG HRIad: AW Foraid afaed enfedsssa |
ATERfeT | dfeet ST 3N Shdfed | @ Avs: JEr: add|

2 2 o c ~ B
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g

4.

Correct Answer :-

23)

¢ellent afecar srenfAfeseed Teeed Ygaccl AT -

INT o7 faeam = T o eled 2Tt oF &ffel o [0 o &3 |
d FAchelich 81feTReIAT FHSITUTT FIMLT el ||
AT e frar afa Taemara Baa o |

HRIBROTALAY fidfod g ||

ITAT, 3 fRage: eafed |
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gliTee Ufocar UeaEd %;gdgcdi A -

CATRYIEAed  hE-SIIHETIC-GECRITHRTAH A AReife:  Faear
Al daT T T FEIcHe: 3Ad: 3ead| S TaUAr 3Iade:
PRER AT 3| de Taeifasl dasht aeamed ol agea: 31
Soqlg Teerelal 3rstadre|

SAfAfder F@d Gaeamn: T o ARSI s gaael Tdd, Sl S
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Correct Answer :-

ERE

Topic:- English (ENG)

1) Choose the synonym for the underlined word in the given sentence.

Their uncouth laughter sounded loud in the room.

1. gracious
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2. suave
3. civilized

4. coarse

Correct Answer :-

® coarse

2) Choose the antonym for the underlined word in the given sentence.
The instructions look very complicated, but I will try to fix it.

1. tortuous

2. meandering

3. convoluted

4. straightforward

Correct Answer :-

o straightforward

3) Choose the appropriate suffix to get the noun form of the underlined word in the given sentence.

The Taj Mahal is a magnificent building.

1. magnificence
2. magnanimous
3. magnanimity

4. magnificently

Correct Answer :-

« magnificence

4) Choose the appropriate modal to fill in the blanks.
Ifit___ rain, they will not come.

1. can

2. may

3. might

4. should

Correct Answer :-

 should

5) Choose the appropriate adverbial clause to fill in the blank.
The stolen goods were found

1. outside the garage

2. where the dacoits usually hid things

3. in the dacoit’s hiding place

4. and the police confiscated them all

Correct Answer :-

« where the dacoits usually hid things

6) Choose the appropriate tense to fill in the blanks.

Everyday, the shop at 8 in the morning.
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1. will opens
2. would opened
3. opens

4. open

Correct Answer :-
e opens

7) Choose the appropriate phrase preposition to fill in the blank.
introduction, he made some pertinent remarks.

1. On way of

2. On the way

3. By way of

4. In the way

Correct Answer :-

* By way of

8) Choose the appropriate phrase to fill in the blank.
She ______the people standing nearby.

1. yelled at

2. yelled into

3. yelled out

4, yelled off

Correct Answer :-
o yelled at

9) Choose the appropriate articles to fill in the blanks.

____hourat____ house is enough to give you an impression about the family that lives there.
l.a,a

2.a,an

3.an,a

4, an, an

Correct Answer :-

10) Choose the appropriate noun clause that could replace the underlined part of the given sentence.
hurts me.

1. Cheating

2. The statement

3. That you should cheat me

4. Even the thought of his suffering

Correct Answer :-

» That you should cheat me

11) Choose the appropriate idiom to fill in the blank.

Page- 39



There will be in today’s interview.

1. no holds barred
2. holding pattern
3. hold of

4. hold all

Correct Answer :-

¢ 1o holds barred

12) Choose the appropriate idiom to fill in the blank.
Despite the slump in crimes, the Superintendent has been
1. at the wrong foot of the sergeant

2. running the sergeant off her feet

3. landing the sergeant in her feet

4. rushed the sergeant into her feet

Correct Answer :-

¢ running the sergeant off her feet

13) Choose the appropriate determiner to fill in the blanks.
The climate of Belgavi is like __ of Pune.

1. these

2. this

3. that

4. those

Correct Answer :-

o that

14) Choose the option that correctly changes the voice in the given sentence.
The officer asked me my name and he jotted it down.

1. I asked my name by the officer and jotted it down by him.

2. I was asked my name by the officer and it was jotted down by him.

3. My name was being asked and had been jotted down by the officer.

4. My name was asked by the officer and he jotted it down.

Correct Answer :-

« [ was asked my name by the officer and it was jotted down by him.

15) Choose the option that correctly changes the voice in the given sentence.
The captive was bound to a tree.

1. The captive was bound to a tree by someone.

2. A tree was bound to the captive by someone.

3. Someone bound the captive to a tree.

4. Someone bound the tree to a captive.

Correct Answer :-

« Someone bound the captive to a tree.
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16) Choose the option that best transforms the simple sentence into a compound sentence.
To his eternal disgrace, he betrayed his country.

1. His betrayal of the country brought him disgrace.

2. He was disgraced by the betrayal of his country.

3. Eternal disgrace is the result of the country being betrayed by him.

4. He betrayed his country, and this was to his eternal disgrace.

Correct Answer :-

» He betrayed his country, and this was to his eternal disgrace.

17) Choose the option that best transforms the given interrogative sentence into an assertive sentence.
Why waste time reading trash?

1. Is it wasting time when one reads trash all the time.

2. It is extremely foolish to waste time in reading trash.

3. Must you waste time reading trash foolishly

4. Wasting time is foolish because one reads trash, isn’t it?

Correct Answer :-

« Itis extremely foolish to waste time in reading trash.

18) Which of the following is not one of the characteristics of English Language?
1. It is evolving over the years

2. It is used for communication

3. It is inborn and need not be learnt

4. It is acquired through training

Correct Answer :-

« It is inborn and need not be learnt

19) Which of the following is true in the context of using effective teaching learning materials in class?
1. Teaching without any materials helps in enhancing creativity

2. Use of materials fail to break the monotony of the teacher-centered classrooms

3. Use of relevant materials makes completion of the task very difficult

4. A task without any material seems quite boring and burdensome

Correct Answer :-

« A task without any material seems quite boring and burdensome

20) Read the following letter and answer the given question.

To,

Whomsoever it May Concern

I have had the pleasure of employing Joy Jen for five years. Joy has handled many responsibilities in these five years. She has handled
customer interaction, inventorying, and content writing for our website, Joy is an intelligent, responsible, energetic lady who never loses
her cool in any crisis. I am sure that Joy will perform any responsibility given to her with care and maturity.

Yours sincerely

Susan Sanders

CEO

J.0. Enterprises

According to Susan, which of the following comments is true about Joy?
1. she will be composed in the face of a crisis
2. she will panic in the face of a crisis

3. she will handle all crisis with trepidation
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4. she will handle all crisis with apprehension

Correct Answer :-

« she will be composed in the face of a crisis

21) Read the following report and answer the question given below:

Healthy Eating Mela

Students from the Ganapur High School organized a Healthy Eating Mela to spread the message of good food habits. The competition
included events like Cooking without Fire, Conjuring Salads, and Watch the Calories. Our chief guest for the day was the famous nutritionist
Ms. Kamala Madhav. She spoke to the students about what is healthy and what is unhealthy food. The day must certainly have found
several converts from junk to healthy food.

Based on this given report, what does the author say must have been the consequence of the event?
1. Students would abandon healthy food habits and turn to junk food

2. Students would give up junk food and adopt healthy eating habits

3. Students would think that junk food is healthy and continue to eat it

4. Students would understand that junk food is not unhealthy

Correct Answer :-

¢ Students would give up junk food and adopt healthy eating habits

22) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and national
development.

Apart from making India a global manufacturing hub, the Make in India initiative seeks to do a few more things. Which one of the following
options in NOT one of them?

1. safeguard intellectual property
2. encumber skill development
3. nurture innovation

4. succor job creation

Correct Answer :-

« encumber skill development

23) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and national
development.

According to the passage, which of the following is not among the sectors of economy about which details could be obtained from the
official website?

1. Information Technology
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2. GDP
3. BPM

4. Automobile

Correct Answer :-

+ GDP

24) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and national
development.

Which of the following options best expounds the logo of Make in India as given in the passage?

1. the lion indicates the integral role of the foreign manufacturing sector and the gear wheels symbolize their nation

2. the lion indicates the integral role of the multinational companies and the gear wheels symbolize the domestic companies
3. the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the nation

4, the gear wheels indicates the integral role of the Information Technology and the lion symbolizes the Business Process Management (BPM)

Correct Answer :-

« the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the nation

25) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and national
development.

According to the passage, which of the following is NOT one of the initiatives introduced as part of Make in India?
1. promote foreign direct investment

2. develop the manufacturing sector

3. protect multinational companies

4. implement intellectual property rights

Correct Answer :-

 protect multinational companies

26) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother’s Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband’s, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

How did the husband’s opinions differ from the wife’s?
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1. They were always as good as new
2. They were always serviceable with no reason to discard
3. They were always having to be replaced

4. They were practically never having to be replaced

Correct Answer :-
¢ They were always having to be replaced
27) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother’s Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband’s, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

What were practically ‘as good as new’ and inherited by the wife?
1. quaint pleasure opinions

2. everyday prejudices

3. serviceable heirlooms

4, stout set of practical ideas

Correct Answer :-
¢ everyday prejudices
28) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother’'s Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

What is the implication when the author calls the wife’s opinions *heirlooms’?
1. that they gave pleasure

2. that they were about her hair

3. that they were inherited

4. that she was proud of them

Correct Answer :-

« that they were inherited

29) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother’'s Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

According to the passage, the wife's everyday prejudices were inherited from ?
1. the Crown derby

2. Aunt Sophronia
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3. her husband

4. her great grandmother

Correct Answer :-

« Aunt Sophronia

30) Read the poem carefully before answering question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Whose loss is the poet mourning?
1. maiden Lenore

2. forgotten lore

3. a late visitor

4. bleak December

Correct Answer :-

« maiden Lenore

31) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;
And each separate dying ember wrought its ghost upon the floor.

Eagerly I wished the morrow;—vainly I had sought to borrow
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From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What is the rhythmic structure evident in the first line?
1. iambic pentameter

2. spondaic hexameter

3. anapestic monometer

4. trochaic octameter

Correct Answer :-

« trochaic octameter

32) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What does the poet eagerly wish for even in the midst of his sadness?

1. visitor

2. books

3. books of sorrow

4. tomorrow

Correct Answer :-
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e tomorrow

33) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Which of the following figures of speech best describes the use of the words ‘tapping’ and ‘rapping’ in lines three, four, and five?
1. Alliteration

2. Litotes

3. Personification

4. Onomatopoeia

Correct Answer :-
« Onomatopocia
34) Read the following notice and answer the given question

Green National School, Mathura

NOTICE

28 January 2019
This is to inform all students that our school is organizing a 2 day field trip to the Wipro Industrial Estate. The details are as follows:
Classes: VIII to X
Dates: 23 February to 25 February
Those who are keen on registering for the trip must pay 1500 rupees to Ms. Ritu, Biology teacher before 31 January.

Principal

Where will the students be going during the field trip?
1. Mathura Industries
2. Wipro Industrial Estate

3. Biology lab in Mathura

Page- 47



4. Fields near the school

Correct Answer :-

» Wipro Industrial Estate

35) Read the following advertisement and answer the given question.
ADVERTISEMENT

KENDRIYA VIDYALAYA, AMEERPET

Walk-in Interview for part time SQUASH COACH on 3" July, 2018 at 10 a.m at the Vidyalaya campus. For more details please visit
kvameer@kv.in. Eligible candidates must attend the interview with original and attested copies of educational qualification and work
experience. No TA/DA will be paid for attending the interview.

Sd/-

Principal

What are the documents that the interviewees ought to carry to the interview?

1. Both Notarized and photocopies of documents related to education and work experience
2. Both original and attested copies of documents related to education and work experience
3. Only attested copies of documents related to education and work experience

4. Only original documents related to education and work experience

Correct Answer :-
« Both original and attested copies of documents related to education and work experience
36) Read the following poster and answer the given question
DJ SCHOOL CLUB
is
organising a Diwali Mela
to
bring light and happiness into everyone’s life
Venue: TK Stadium, North Campus
Date: 7th to 9t November
Time: 6 p.m. to 9 p.m.
Entry fee: Adults 20/- Children 5/-
Let’s make this Diwali cracker free
Sponsored by

Ronex

Which of the following statements is not true based on the information from the poster?
1. The Mela is sponsored by Ronex and organized by the DJ School Club

2. The club will charge an entry fee for those who wish to join the Mela

3. The organizers will distribute free crackers during the celebrations

4. There will be no pyro techniques displayed during the Mela

Correct Answer :-

o The organizers will distribute free crackers during the celebrations

37) Read the following letter and answer the given question.
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Dear Dev

How are you? I am sure that your studies must be keeping you busy. I am glad to tell you that I have now been selected to the theatre
group. We have a play coming up next month at Rangashankara. It is a big deal. Remember, we had once met the who’s who of theatre and
cinema at Rangashankara. Maybe, my dream might come true and someone will notice me for a small role in the movies. Well, enough of
day dreaming. How are things at your end? When is that big test of yours? Do write to me as soon as you could.

Yours truly

Jo

According to the letter, what does Jo hope might happen at Rangashakara?

1. he will be noticed by an influential person who might offer him a role in the movies
2. he will be introduced to the greatest personalities from theatre and cinema

3. he will fumble his part in the upcoming play and lose his face

4. he will win the best actor award at the upcoming play

Correct Answer :-
« he will be noticed by an influential person who might offer him a role in the movies

38) Read the following letter and answer the given question.

To
The Recruitment Officer
Anganwadi, Bidar

Dear Sir,

I wish to apply for the post of Anganwadi worker at Bidar. I have completed my Matriculation with First class. The Principal of my school,
Bidar High School, is willing to give you a reference for my conduct. Please consider my application. I will work hard and do my best.

Thank you.

Kishan Raj

Fill in the details based on the letter.

Name: __

Post: _

Education:

Referee:

1. Recruitment Officer, Anganwadi worker, 12th Grade, Principal of Bidar High School
2. Recruitment Officer, Anganwadi worker, First Class, Principal of Bidar High School

3. Kishan Raj, Recruitment Officer, Matriculation, Anganwadi worker at Bidar High School

4. Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

Correct Answer :-

» Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

39) Read the following letter and answer the given question.
To
The Editor

The Hindu

Dear Sir,
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In response to the news about the Municipal Corporation of Hibbalpur converting the public park into a bus stand, I would like to express
my strong displeasure as a citizen. There are very few public parks in the Hibbalpur locality. Moreover, shifting the bus stand there will
increase pollution in an otherwise clean residential area. The Corporation is sure to face more severe protest from the residents of Hibbalpur
in the coming week.

Yours faithfully,

Krishna Swamy

What would be the dominant tone of this letter?
1. complaisant

2. congenial

3. irate

4. insolent

Correct Answer :-
e irate

40) Read the following letter and answer the given question.

To,
Communications Skills Training

Munnar, Kerala

Dear Sir,

I write to enquire whether your company would offer a 5 day Communications skills workshop for our new recruits at HR Customer
Services, Munnar. We have a group of 25 fresh graduates who need training in customer interaction, etiquettes, presentation and such
other skills. If you could send us the details about your training program, the cost, and the trainer profile, we could fix an appointment
accordingly.

Thank you
Manager

HR Customer Services

Which of the following are among the details that the Manager asked for from the Communications Skills Training company?
1. the details about the program offered by Communications Skills Training

2. the profile of the new recruits at HR Customer Services

3. the cost of several communication skills materials available in the market

4. the cost of their Time Management course

Correct Answer :-
« the details about the program offered by Communications Skills Training

41) Read the following letter and answer the given question.

Dear Kaite

I hope you are well. I am waiting for the summer holidays. I'm writing to you because I want to invite you to visit me during the holiday
season. We could visit the heritage centers and museums or spend the day at the movies or wander around the shopping malls. Let me
know what you think. We could plan everything then.

Hoping to see you.

Jainne

Which of the following is not one of the things that Jainne suggests she and Kaite could do during the summer holidays?

1. spend the day at the movies
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2. visit the heritage centers and museums
3. go swimming on the sunny beaches

4. wander around the shopping malls

Correct Answer :-
» go swimming on the sunny beaches

42) Read the following instructions and answer the given question.

Follow these guidelines when there are children with disabilities in the class.

FOR MATERIALS

+ Get audiobooks through services like Bookshare, a free online library for students with disabilities
« Provide pictures of directions and schedules

» Use large-print text for worksheets

« Simplify directions with key words for most important ideas

« Provide colored strips or bookmarks to use when reading

According to the instructions given, which of the following options is not among the things that a teacher should do for the students with
disabilities?

1. Use audiobooks whenever possible
2. Use simple, key words to give important directions
3. Provide notes in advance for all the chapters in the text

4. Provide colored bookmarks to enable them to track their reading

Correct Answer :-

» Provide notes in advance for all the chapters in the text

43) What is one of the major drawbacks of the structural approach?

1. it taught language in meaningful contexts that learners could relate to

2. led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

3. It gave learners language that could be used in real life situations instead of just the ability to use correct sentences in classrooms

4. it bridged the gap between “linguistic age” and “mental age”

Correct Answer :-

* led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

44) What is one of the major problems faced in the implementation of the Continuous and Comprehensive Evaluation (CCE)?
1. teachers largely consider CCE as an integral part of the assessment process

2. the teachers integrate the assessment with the teaching-learning process

3. it is considered by teachers as an external activity that is to be followed after the completion of a topic/lesson

4. it is given significant attention by teachers to integrate into the teaching learning process

Correct Answer :-

« it is considered by teachers as an external activity that is to be followed after the completion of a topic/lesson
45) What is a major aim of remedial teaching?

1. to enable detention practices that would instill fear in a child

2. to dictate notes of every chapter so that a child could learn everything by heart
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3. to put a child through grueling hours of drill so that he despises learning
4. to bring a child to minimal acceptable levels in each class

Correct Answer :-

* to bring a child to minimal acceptable levels in each class

46) What is the role of grammar in teaching language?

1. sensitise the child to language-sound structures

2. develop the imagination

3. reconstruction of the meaning of the attempted expression through imperfect English

4. tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and argumentation

Correct Answer :-

« tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and argumentation

47) What is the one of the methods adopted by the government to tackle the challenge of the multilingual nature of the Indian society?
1. the grammar-translation method

2. the information technology curriculum

3. the modern language policy

4. the three language formula

Correct Answer :-

o the three language formula

48) In mother tongue learning, speech progresses from ____ through ___ to
1. one word, one sentence, several sentences

2. one sentence, two sentence stage, multi-sentences

3. one phoneme, a few morphemes, multi-vowel stage

4. one word, two word stage, multi-word sentences

Correct Answer :-

« one word, two word stage, multi-word sentences

49) According to Norbert Schmit (2000) “whereas the of a language is largely in place by the time a child is 10 years old ...,
continues to be learned throughout one’s lifetime.”

1. grammar, vocabulary
2. order, structure
3. structure, order

4. vocabulary, grammar

Correct Answer :-

« grammar, vocabulary

50) Listening and Reading proficiency in language learners mainly develop ____ skills.
1. expression

2. comprehension

3. articulation

4. delivery
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Correct Answer :-

* comprehension

51) Which one of the following is NOT a correct statement?
1. Writing is an important Language Skill

2. Listening is an important Language Skill

3. Reading is an important Language Skill

4. Reckoning is an important Language Skill

Correct Answer :-

» Reckoning is an important Language Skill

52) Which of the following statements is true in the context of sentence construction in a language?
1. when compared to organizing words, there is no order of organizing sentences in any language

2. Like in the case of organizing sentences, there is no order of organizing sentences in any language

3. as compared to the level of sentences, language is more tightly organised at the level of words

4. as compared to the level of words, language is more tightly organised at the level of sentences

Correct Answer :-

« as compared to the level of words, language is more tightly organised at the level of sentences

53) Which of the following is an important consideration when choosing teaching materials for a class?
1. need to be as confounding as possible in the extend of texts that will be used

2. need to be sensitive to perspectives of equity (gender and societal) and harmony

3. need to be rigid and inconsiderate to the cultural and local contexts of learning

4. need to be circuitous when deciding the concepts to be dealt with in class

Correct Answer :-

« need to be sensitive to perspectives of equity (gender and societal) and harmony

54) Which of the following is one of the aims of teaching English Poetry?
1. enable students to solve puzzles

2. enable students to write an essay

3. enable learners to prepare reports and brochure

4. enable learners to appreciate rhythm and feeling

Correct Answer :-

« cnable learners to appreciate rhythm and feeling

55) In the case of English words like ‘fun’, ‘rain’, and ‘fish’, how would you convert them into adjectives?

1. add ‘ion’ at the end

2. add ‘in’ at the beginning
3. add ‘y’ at the end

4. add ‘a’ at the beginning
Correct Answer :-

¢ add ‘y’ at the end
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56) Choose the closest meaning of the underlined phrase in the given sentence.

The act of burying a dead person sometimes becomes mundane for an undertaker.

1. Internment
2. Interstitial
3. Interment

4. Intermittent

Correct Answer :-

« Interment

57) Choose the closest meaning of the underlined phrase in the given sentence.
After the event he felt weak and tired.

1. encomiastic

2. energized

3. enervated

4. engineered

Correct Answer :-
o enervated

58) Satish was out of office when he got a call from the onsite supervisor asking him to immediately send the office assistant with the BMP approval form to the
Head Office in Andheri. Govind, Satish’s colleague, has to fill the following out of office form passing on the message.

(Name), send with to in Andheri.

1. Office assistant, Govind, BMP approval form, onsite supervisor
2. Govind, Satish, Head Office, BMP approval form
3. Satish, office assistant, BMP approval form, Head Office

4. Satish, Govind, BMP approval form, Head Office

Correct Answer :-

« Satish, office assistant, BMP approval form, Head Office
59) Change the given sentence into direct speech.

He urged them to be quiet and listen to his words.

1. He wished, “that they were quiet and listening to his words.”
2. He enquired, “are you quiet to listen to my words?”

3. He exclaimed, “you are quiet and listening to my words!”

4. He said, “be quiet and listen to my words.”

Correct Answer :-

« He said, “be quiet and listen to my words.”

60) Change the given sentence into indirect speech.
He said to them, “will you listen to such a man?”

1. He asked them to listen to such a man

2. He asked them whether they would listen to such a man.
3. He said that they will listen to such a man.

4. He said to them that they will have to listen to such a man.

Correct Answer :-
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¢ He asked them whether they would listen to such a man.
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